<EM2>

ER245 ERARE
HEmbR) €530

UR A% B9 UR 32 (Feld»  BA:-BEAA) INEAIE (A  HA:-BEA)

X4 23FEEEE (D) (245EEE(Q) |FIEEL(@Q—-D)| #EE X4 23FEEEFE (D) (245EEE(Q) |FIEELQ—-D)| #EiEE
1. EEIREE (A) 6,880 7,569 689 10.0% 1. EEUNEE (A) 5,867 6,295 428 7.3%
(1) HEEIA 6,681 7,367 686 10.3% (1) HEEIA 5,747 6,158 411 7.2%
1 ABRIREE 4,862 5,467 605 12.4% 1 ARRINEE 4,303 4,720 417 9.7%
2 SEINEE 1,819 1,900 81 4.5% 2 SNEINEE 1,444 1,438 A6 A 0.4%
E3 (2) Z D EZE I 199 202 3 1.5% E3 (2) Z DL EZE I 120 137 17 14.2%
x(2. EXEH (B) 8,925 9,486 561 6.3% |¥[2. EEZER (B) 7,353 7,592 239 3.3%
I (WBEHREE 4,076 4314 238 5.8% [ (WBEHREE 3,754 3,778 24 0.6%
X (2) M ¥l E 1,857 2,025 168 9.0% * (Q)MHE 1,409 1,490 81 5.7%
BRE 2,014 2,172 158 7.8% RRE 1,763 1,878 115 6.5%
(4) BAfIEEN & 946 931 A 15 A 1.6% (4) BifIEENE 405 403 A2 A 0.5%
(5)ZDfh 32 44 12 37.5% | [(B)ZDfth 22 43 21 95.5%
EXEE (A)—(B) A 2,045 A 1917 128 6.3% EXEEE (A)—(B) A 1,486 A 1,297 189 12.7%
3. EESMNIRE (C) 2,793 2.365 A 428] A 15.3% 3. EEMNINE (C) 1515 1,531 16 1.1%
ES (MWihEEtEEE-@E 2,689 2,255 A 43l A161% |E (M EEE-EhE 1,439 1,428 A 11 A 0.8%
X (2)E(R)##EhE 13 11 A2l A154%] |%E (2)E(R)##hE 48 75 27 56.3%
AN (3)ZDith 91 99 8 8.8% |4+ (3)Z Dt 28 28 0 -
4. EENEH (D) 505 465 A 40 A 79% |U|4. EESNER (D) 84 73 A1l A 131%
* (1) XZIFIR 383 366 A 17 A 4.4% * (1) XZHFI R 28 23 A5l A 17.9%
(2) FDith 122 99 A 23] A 18.9% (2) FDih 56 50 A6l A 107%
ZEEIRE (A)+(C) (E) 9,673 9,934 261 2.7% [#EFBIE (A)+(C) (E) 7,382 7,826 444 6.0%
REERH B)+ (D) (F) 9,430 9,951 521 55% |BEZEH (B)+ (D) (F) 7,437 7,665 228 3.1%
BEEE (E)—(F) (G) 243 A 17 A 260 A 107.0% [EEERE (E)—(F) (G) A 55 161 216 392.7%
R CTETES (H) 1 31 30 3000.0% SRR CTETES (H) 0 2 2 -
g 2. ERliE% (I 42 11 A1 A 2.4% f; 2. B¥AlE % () 31 53 22 71.0%
# [FAlEE H)-O J) A 41 A 10 31 75.6% i [4FAlERE (H)-0 J) A 31 A 51 A 20| A 64.5%
M| (G)+(J) 202 A 27 A 229 A 113.4% [fEIE (G)+(J) A 86 110 196 227.9%
RREREE A 1,250 A 1277 A 27 2.2% RREREE A 398 A 288 110] A 27.6%
[BAZEH EB) | 2,689| 2,255| A 434 A 16.1% [BAZEH EE) | 1,439] 1,428] A 11l A 0.8%

BARINE BRI

X4 23FEEERB (D) | 24FEEE (Q) [FIEEL(Q—-D)| HiEzE X4 23FEEERB (D) | 24FEEE (Q) [FIEELQ—-D)| #EiEzE
- 1. ©XE 186 118 A 68] A 36.6% 5 1. ©XE 336 231 A 105 A 31.3%
* 2. thEEHEAR 0 0 0 I 2. WEERAE 0 0 0 -
" 3. ZDfh 0 0 0 P 3. ZDfth 0 0 0 -
I Hi (A) 186 118 A 68] A 36.6% I Hi (A) 336 231 A 105 A 31.3%
A (AD>LBEEICRYBENIXHOMERFE L (B) 0 0 0 - A (AD>LBEECRYBSL X HOMRTRLE (B) 0 0 0 -
foET (C) 186 118 A 68 A 36.6% fET (C) 336 231 A 105 A 31.3%
7|1 BRURE 204 120 AB4l A4 |g|1. BERURE 312 273 A 39| A 125%
ﬁ 2. tEFEEES 990 952 A 38 A 3.8% ﬁ 2. hEEEES 654 687 33 5.0%
% 3. TDfth 15 0 A 15 A 1000% |3 (3. TDith 27 0 A 27| A 100.0%
ae Hi (D) 1,209 1,072 A 137 A 11.3% i Hi (D) 993 960 A 33 A 3.3%
BAMRAENEANIHEEIZT R T 5%E (D)-(C) (E) 1,023 954 A 69 A 6.7% BARAMIRAZENEARANIHEEIZT R T 5% (D)-(C) (E) 657 729 72 11.0%
w1l BRI EBRES 1,023 954 A 69 A67% (W] EBRUTERBRRES 657 729 72 11.0%
Tl2. ZDith 0 0 0 - Tl|2. ZDih 0 0 0 —
A Hi (F) 1,023 954 A 69 A 6.7% A Hi (F) 657 729 72 11.0%
BCAMEBEREE E)-F) 0 0 0 -| [[@TABBRLZEEZE E)-F) 0 0 0 -
BUSHRTES 0 0 0 — BUSHES 0 0 0 -
TEERES 20,027 19,193 A 834 A 4.2% TtEERES 2,152 1,696 A 456 A 21.2%




